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1. fe@eR 2015 wed €€l e Wl wen Farsumrms wome die Wia s
(1) 0 IR (2) TR (3) TEA (4) R
In December 2015 adult women citizens in Saudi Arabia were allowed to vote for the first
time in the elections conducted in the country.
(1) Shura Council (2) Municipal {3) National (4) Regional

2. WY U (Rt Siont i Bt ?

(a) TR T HO (by i fFremes U= 20

¢y AfcaTE™ IRE w0 (dy Tfdgsn FXvam Iare g0
T SO

(1) (a), (b) ¥ (c) Fert (2} (b) K

(3) (o) ¥ (4) (d) HH

Which of the tollowing were the objectives of the Paramahansa Sabha ?
(@) To put an end to the caste system (b} To encourage female education
(c) To motivate remarriage (A}  To encourage idol worship

Answer Options :

(1) (a), {b) and (c) only (2)  (b) only
(3)  (¢) only {4) (d) only
3. FHIERE WS i Sreyd Al Gitd WEOEE ' A YA e w7 eIt
T G TR A
(1) TerTe Haro ws 2y feomw @wU= FE
(3) QI MRS FHeT () AU T

Bal Gandharva and Keshavrao Bhosle collected rupees 15000/- as contribution for
__ by organizing ‘Sangeet Manapaman’.

(1)  Famine Relief Fund (2) Tilak Swarajya Fund
(3)  Allied War Effort (4}  None of the above
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(a) kil =T (b) TER Uaviat

(c) weTsd 7 (d) TAUE g

TaiEt Fwl

(1) ® (a), (b). (o) (2} (b}, (o), (d)
(3) W (a), (b), (d) (4) T (a), (o), (d)

Who from amongst the following have won the ‘Legend of Honour” award from the French
Government ?

(a) Shakti Barman (b) Pandit Ravishankar
() Satyajit Roy (d) M.F. Hussian
Answer options :

(1) Only (a), (b). () (2)  Only (b), (c}, (d)

(3)  Oaly (a), (b), (d) (4} Only (a), (e}, (d)

TRATAHIS SINA 17 e ?

(1) e (2) (3) Rl 4) ¥

Which High Court has recently struck down reservations for SCs and 5Ts in Govt job
promotions ? '

(1) Bhopal (2) Chennai (3) Calcutta (4}  Mumbai

HEAT hITES FWT /SPACE FOR ROUGH WORK
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6. @ faum faemag = IR
(a) WRAH 2015 AsT WA gaffas e e Foaren eda SEeset 5 e AR,
(b) 9RAH 2015 AET 10.23 9@ 2 Wl Fafd at R,
(c) femaam & v frata woom faaw der 3w g,
(d) = 1 VR ST T G T 39 3T,
TSUH] I FAE T amA 7
) @M@ @ @AmE @ @@ @) o™
Consider the following statements :
(a) India has overtaken Thailand as the world’s largest rice exporter in 2015,
(b} India exported 10.23 million tonnes of rice in 2015.
(c) Vietnam is the third largest rice exporting country.

(d} China is number one importer of rice.

Which of the statements given above are true ?

(1) (a) and (c) (2) (a) and (b) (3)  (c) and (d) (4)  All the above
7. AR AR NG RS SATIEH FUTRITH Hles, T TI@T Hgd! BT o1 B1a

afor wfgsadtes Fepvaran antm faemran 9 Taer S,

(1) =@ 2y H& (3) B (4) T

According to UNESCO, early childhood is the period from birth to ___ years old,

a time of remarkable brain growth which lays the foundation of future learning and

development.

(I} ten (2)  six (3) cight (4) nine
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8. 'vew fem waR TR acielE Fow fHuE Slet AR
(a) T FAFENE gEEne 13 ¥ 18 Hhgarl 2016 TEIE HO 1O,
(b) Teae snftn feTde Eea davaH 3gHRA Readrd Jufed &,
At S
(1) 9% (a) (2) 5% (b) @) (4) e
Which one of the following statements regarding ‘Make In India Week’ is not correct ?
(@) It was organised in Mumbai from February 13 to 18, 2016.
(b} The Prime Minister of Sweden and Finland attended the inaugural function.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4)  Neither

9. 63 o U A2 [EHITSERIT @oetsh] HIvE Siel seR e ?

(1) wEfE= favve - SR RS
(2) Heilep= feat fasue - THOMF T
(3) waFR TARSH fumue - agEe
(4) 6 T8 TPR-UHY THRHGE - 7 oeE g fed
HAFE JEFR
Which one of the following pairs regarding 63" National Film Awards is correct ?
(1) Best Film - Bajrangi Bhaijaan
(2)  Best Hindi Film - Dum Laga Ke Haisha
(3}  Best Entertaining Film - Baahubali
(4) Nargis Dutt Award- - Tanu Weds Manu Returns

Best Film on National Integration

et SRTHATS! ST /SPACE FOR ROUGH WORK
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10, 2016 - 17 o0 RSO WKl Hdo6 Qg Hodql Noow Faq & MeaEEd Srey oel

(2) o (i) gfa: AmrRied e

(b) FAER (i) gofa: aFRfEn T

(c) ol (i) BTG TH IR

(d) 3= (iv) efadmam et (130 for . vy am)
wai I

@ (b} (o) (d)
1 @ @ @) ()
@ v @ @ G
() Gv) Gi) @) ()
4 @) (Gv) O ()

Match the pairs in respect of the four new trains announced in the Rail Budget of

2016-17 :
(@) Tejas (i) Fully Air conditioned service
(b) Humsafar (i) Fully unreserved service

() Antyodaya (i) Double-Decker Air conditioned
(d) Uday (iv) High speed train (130 kmph)
Answer options :
(a) (b) (o) (d)
™ @ (W) @) (iv)
(2) (@v) () @) (i)
(3) () (i) @) ()
4 (W) (v) (1) (1)
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11 YRR S Tt et R v R a2

(a) 3f=fET fawR Tt () T Z e

(€) 3TN FATA (d) wrRy e

oI 39

(1) T (a), b), () (2) wH (a), (b), (d)

(3)  HE (a), (c), (d) (4) B (b), (0), (d)
Which of the following books have been written by Sharad Joshi ?
{a)  Answering before God (b) Down to Earth

(¢) The Women's Question (d) Farmer’s Peril

Answer options :
(1) Only (a), (b). (c) (2)  Only {a), (b), (d)
() Only @), () (d) (4)  Only (b), (), (d)

12. ‘&N’ (VARUNA) TIEF 21 1 S0 B 29 3112 ?

(1) wRa smion smfR (2) W sfty <=

(3) WE 3Nt Wy (4) N it IRen
‘'VARUNA' is a naval exercise between which two countries 7
(1) India and USA (2) India and China
(3) India and France (4) India and Russia

13. VidHAA SHG AGSE WA T8GR aie v o ?

(1) €& fw&r 2) <R wEE

(3) <13 Ffw (4) SOSTH wFE TR
Which is the India’s first television channel dedicated to farmers ?
(1) DD Crops (2) DD Bharati

(3) DD Krushi (4) None of the above

oAl TP AT /SPACE FOR ROUGH WORK
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14. o Agn faard =

(a) o 214 UREE (WEF) TR FTe TRe TEWE 60 Faiay e wifas
& WRATS 22 1 FHi TR,

(b) FEIE AE & Frera, wiwpfos W, Sesem, onfis wama snfn el e snenfia
FAR FIOA 4,

(©) = aEmed faeaen gat= WA W 31 IR

(d) A1 AEME S I H A ST

BT IV /ol faur/ faum ST oTe ) oTed ?

(1) i (a) (2)  (a) W (b) (3) (a). (b) 3T (c} (4) (b), (c) WM (d)
Consider the following statements :

(@) Indiaranked 22" in the inaugural list of the world’s 60 most livable countries released
by the World Economic Forum.

(b) Thelistis prepared on the basis of sustainability, cultural intluence, entrepreneurship,
economic influence and life style.

(c) Sweden has been placed at the top in this list.
(d) Germany ranks second in the list.

Which of the statements given above is/are correcl ?

(1) (ajonly (2) (a)and (b) (3) (a). (b)and (c) (4) (b) (c)and (d)
15. 2016 ¥ TSR 3= O wiGfas feefaumar wmd smfes Tr et a9 4 il
AT FA FEIAE! HH T,
(1) T W Y (2) e AfE
(3) TIEEE FOER =[H (4) EE-uferm = wlE

Indo-American journalist Neela Banerjee who received the Edger Alen Poe award, 2016,
works for a news organisation named

(1}  Agence France-Presse (2) Al Jazeera

(3) Inside Climate News (4) Indo-Asian News Service
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16. IO FiECTAS B 9.4 Alded A q5 WA w1 FO 7

(a) Hom sfusr w@fd (b) SHeUHEATH IJuwld
(cy oo afadt (dy U= Hfgar

'q-qi-":ﬁ' B?ﬁ- :

(1) ®H (a). (b), (c) (2) %F (b), (<), (d)
(3)  FH (a), (b), (d) (4) WA (a), (c), (d)

What committees did Dr, B.R. Ambedkar work in as a member ?
{a) Fundamental Rights Committee

(b}  Minorities Sub Committee

(¢} Advisory Committee

(d} States Committee

Answer options :

(1) Only (a), (b, () (2) Only (b), ©). (d)
() Only @), (b), (d) (4)  Only (a), (c), id)

17. TR STRAUTA HRURE TEH ST SEneon Sears Geets SR gevd SfHER
Tefer gld ¢reand ?

(a) M S Sy{eEie ld> (b) gUTH WA

() g TAR w=idA (d) Shfed o safsa wd=ar giem
(1) (a) T (b) (2) FF2 (o)

(3) (@) (b), (o) ST (d) (4) (@), (b) S ()

During the operation of a National Emergency on the grounds of an external aggression
which of the following fundamental rights can be suspended ?

(a) Freedom of speech and expression

(b) Frecdom of press

(¢} Right to move freely

(d) Protection of life and personal liberty

Answer options :

(Iy  (a) and (b} (2) Only (c)

(3) {ah (b). () and (d) (4) (@) (b) and (0

e SRTATATS SN /SPACE FOR ROUGH WORK
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18. WRGUH! FHIUR ARRIE 0@ & Jooodl Teade-d Fufas Jaed! Ty S9! Jogyr 34 -~ 5T
TTESA] SORAIGI RTUATE ST 2

(@) SR W, faty dd, =S e anfr gafa nrmtae | wifer fh oA
(h)  SRTEMA SAFEATHIE HEHeT fHeaat I/ Gmst S Soom,
(c) HET THIA A g6 i T S wrEtfangs wee 9o,

(dy AT T 9 GadA St st 91 9 g Aawel ai W50 weE T

T,
Taidr 39T
(1) (a), (b) 3 () () (b), i) W d)
() (a), (b) ¥ (d) [4) (@) {c) AW (d)

Which of the following Directive Principles were not mentioned in the criginal -
but are included by the 42™ Amendment ?

(a) To secure living wage, a decent standard life and social and .7
to workers.

{b) To take steps to secure participation of wurkers in the manageive. .

(c) To promote equal justice and provide free legal aid to poor. '

(d) To protect and improve the environment and to safepnard forests and walalise
Answer optivi: -

(1) (a), (b) and {c) (2)  (b) (cad

(3) (a), (b) and (d) @) (@) (end oo

FHoedT HIFTETE WA /SPACE FOR ROUGH WORK
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19. i fafay sl vmi=n s Foen Yuet Seaees Tew S w5 =

(1) el weR e

(2) O TR Te e hivem I seifteifoem
(3) TR Srennfesg f{Osn i §=a4 ahyg
(4) HE 7RI E

The strike in by workers of different communities was supported by national
leaders like Jawaharlal Nehru and V. V. Giri.

(1) Girni Kamgar Union

(2) League for struggle against Fascism and Imperialism

(3) Kharagpur Locamative Repair and Maintenance Workshop

{4) Southern Maratha Railways

20. IrF FYH/FH Ned
(a) 3T 47 FEO T soeRiT o] 14 Fuigdd dihd o e e SO,

(b} 86 =T WEAGEHIER 6 U 14 FuTdT=N gwERy faw ¥ govg stfusmmy wmfas
THUAT ST

TaiE I

(1) W (a) 9, F57 (b) A,

(2) T (a) FRA, F (b) TR

(@) <R FAN (a) IO (b) T T
4) W FA (a) f (b) TR AR
Select the correct statement/statements :

(a)  Artcle 47 provides for free and compulsory education for all children upto the age
of 14.

(b)  Eighty sixth Amendment made education a fundamental right for children of 6 to
14 years.

Answers options :

(1) Statement (a) correct, statement (b) incorrect
(2) Statement (a) incorrect, statement (b) correct
(3) Both the statements (a) and (b} are correct
(4) Both the statements (a) and (b) are mncorrect

el HTEEE ST /SPACE FOR ROUGH WORK
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21, TAUSAFALCT 3Ty SRYTET TSIHE U Gl s fae SWoR e,

e -

(1) a (2) famR (3) Hm=EH (4) oW o

Amravali, the capital of Andra Pradesh after bifurcation, is to be modelled on the lines of

(1) Shanghai {2) Singapore (3) Amsterdam (4) TLos Angeles

22. Y@ fGuM aT9R @ HORE FEeAE 9O Ho 7R § e
(a) 1875 WA T WA T T TUAT |l B 374
(b) @ A gERE g FO
(¢} ToreneatumEt fay oo, Joqea woul sTEIfRa e 9.
(d) 1873 WA Er= HATS GEATd IR,

1 e
(1) s wfger o (2) HEAMIFH FHT
(3) W EH (4) S EE

Read the following statements and state which organization is described there by :
(a) From 1875, every Sunday the association used to have its prayer meetings.
(b) It established ‘Sushikshangriha’ in Pune.

(c)  Arranged essay competitions, elocution competitions for the students.

(d) It had started functioning from 1873.

Answer Options :

(1) Arya Mahila Samaj (2) Satyashodhak Samaj

(3) Prarthana Samaj (4) Brahmo Samaj

AT HHTEE S /SPACE FOR ROUGH WORK
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23, qHETAl THEE GETAHSE seiaid w1 affed e ?

(ay T TG (by T SAEed

W I

(1) F9 (a) (2) Fa (b)

(3) o (4) S e wfefed gt

What was added to the Preamble of the Indian Constitution laier 7

(a)  Unity of the Nation (b)  Integrity of the Nation

Answer options :

(1} Only (a) (2)  Only (b}

(3) Both (4)  Both the terms were there since the beginning

4. W EaE faama = .
(a) HE TG IO ATIEA SEE! AR TR § SIS I T SR,
(b) W AR frnroiee 3o T 8 Wo 96 T8 300 3118

iy I
(1 faur (@) e (b) T (2) faum (b S, (a) g
(25 R Fas AL S (1) S U agE sTed.

(a) Mahaiashtra is the first state in the country in which all the police ctations are
connected online.

(b)  Pune is the first CCTV surveillance city in the country.
AnSwer ophions |

(11 Statement (a) is correct, (b) is false.

) OSltatement (b} is correct, (a) is false.

(3;  Both the statements are false.

ferl Both the statements are cotrect.

THEedT SHTATATE! T /SPACE FOR ROUGH WORK
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25, WEUH! w0 fauq | 3R ?

(1) SFEl Teeu™ HaTot ARIed M 8 Tese R sTaearE i feor g,

(2) HeEFS YR WEed Welle A TAH 8 Toq=edl I SHeq1dn (o foer g
(3) T AT STTGeEIEH S 9 9% FTEE AT A,

4) =S TEe T

Which one of the following statements is true ?

(1) In the Berubari case Supreme Court held that the Preamble is a part of the
Constitution.

(2) In the Keshavananda Bharati case Supreme Court held that the Preamble is not a
part of the Constitution.

(3) The Preamble has been amended twice so far.

(4) None of the above

26, I HiCHHT Y TS UM [RIEUeh] HIVE! A Sadld 7
(@) ®mR (b)) fEEwm () s (d) Ffrr () fewa
Tt 3 - |
(1) (@) ), @) () @ © @ @
() @ ), © (9 (@, ©) @) (@
Which of the following trees are found in the tropical dry deciduous forests ?
(a) Teak (b} Sisam (¢) Anjan  (d) Tivar (¢) Hirda
Answer Options :
(1) @, ©, @ (2 () (@) (@)
(3) (@), (®) () ‘ (4) @) (b), © ()

Froe] HIATEIE! 9 /SPACE FOR ROUGH WORK
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27. A& Jvita RO g qdodHE, foRmeE gaons Sas=i=r nfdw fasfam
3 e
(1) YWa 9181 screrar (2) ST IEE
(3) Rl FeEa (4) VR T
The main drawback of the _  was that it was not able to garner the support of

Muslims and especially of the Muslim peasantry.
(1)  Quit India Movement {2)  Dandi March

(3) Swadeshi Movement (4) Peasants Movement

28. T wEeR Edad) qgd w1 @) w2
(a) SRS A HIoU4REET
(b) HETHTE YA 4% g A
(¢) = dtereh FoamE
(dy TRBIE HER] FOAHIE!

qaidt 347 :
(1) (a) anfin (b) wa (2) (c) ¥
(3) (a) 3T (d) FaR (4) (d)

Why did the British apply Rayatwari system in Maharashtra ?

(a) To control Landiordism

(b) To remove the drawbacks of the permanent settlement system
(c) To measure Land

(d) For the benefit of the farmers

Answer Options :

(1) (@) and (b} only (2) (¢} only

(3) (a) and (d) only (4) (d) only

FeAT HAME S0 /SPACE FOR ROUGH WORK
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29. e g W, Yiea S, PR e d ST Tar FiA1 S WIeIW AR auls SREErEt
Toen el o wew w1 Hewe S ?
(1) AR H (2) ¥ra &<
(3) HE & @) ThRE T8
What is the case in which, Shripad Amrut Dange, Shaukat Usmani, Muzaffar Ahmed
and Nalini Gupta were sentenced to four years imprisonment, known as ?
(1) Kanpur Conspiracy (2) Meerut Conspiracy
(3) Kakeri Conspiracy (4) None of the above
30. ¥fe e Afser aftween feen wiren gwren _ Erem
(1) ot dfed

(2) e qUITETES

(3) TRRI femEEaRd THRaS

(4) fosmmos iR

The President of the first meeting of the All India Women's Conference was
(1) Vijayalaxmi Pandit

(2) The Ranisaheb of Sangli

(3) Maharani Chimabaisaheb Gaikwad

(4) Vijayaraje Shinde

oA HAES N /SPACE FOR ROUGH WORK
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31. 1892 =0 GeRdl 3fae yEM
(a) Wwﬁmnmmmwmﬁéwa@
(b) i FEEGH QUREN At 31wl T fagiat dvam o1, |
(€) -6 FHINRE EaSea wH |18 @i Afved shvam .

(d) SEHSA TF Yol AN Qvara e,

ygiEy InY
(1) (a), (b) T (d) e (2) (o) ®H
(3) (d) " (4) () wH

According to 1892 Factory Act :
(a) Female workers were allowed to work for eleven hours.
(b) Female workers were allowed to have rest for half an hour in the afternoon.

(¢) The weekly working hours of male and female workers were determined to be
60 hours.

(d) One holiday in a week was granted to the workers,
Answer Options :

(1) (a) (b) and (d) only (2)  (¢) only

(3) (d)only (4)  (a)only

FeT HIMMAS AT /SPACE FOR ROUGH WORK
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32. WO Sl Il

(d)

EGIU
a1 (SEEPZ)
Hrereh! WHER STt Wit Jehed

uhit 39T

)
2
(3)
4)

(3 (& (o)
(i @v) () @
(v () @)
() () (i)
(iv) () (1) @)

Match the following :

(a)
(b)
{c}
(d)

Industry

IT Hardware Park

SEEPZ

Meltron Semiconductors Ltd.

Micro Processor Based System Project

Answer Options :

(1)
(2)
3)
(4)

@ (b) (o)
() (v) () (@)
{iv) () () @
M () (iv)
) () @ (i)

)

(iid)
(iv)

HoEAT SHHES! 9T /SPACE FOR ROUGH WORK
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Location
Kudal
Nashik
Mumbai

Dronagiri

P.T.O.
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33, ‘9 % wfer’ @ Ffaa Eots wven wa SR-dn g2 9 Sased 8 o)
FIRTET SO Shened Sev[ fofes! et ?
(1) Ffasd (2) TGS
(3) s (4) W I GwL

Who from amongst the following poets wrote the poem ‘Bheten Nau Mahinyari’ (See you
in nine months) to commemorate the bravery of a prisoner who was to be hanged for
participating in Chauri - Chaura incident ?

(1) Kunjvihari (2) Kusumagraj
(3) Govind (4) Naravan Keshav Behere
34, Sl oedl ;
(a) WA () U g Heemargs feetradar aEe v 8.
(b) IR (i)  ToT TeaTs yRE framdt fa=t g,
(c) N (iii)  FTYISAT IO TEETE G,
(d) et (iv) SeTi=ar oo SeaEeETE Wi,
TiEt 34t

@ (k) (9 (d)
I Gv) () @) @)
@y @ ) @) ()
@ 6 @ Gv) ()
(4) () @ () (i)
Match the following :

(a) Motibai (i) Remained with the queen like her shadow, from the time she
left Jhansi.

(b) Lalitabai (i)  Queen Lakshmibai’s maid, who looked like her.

(¢) Kashi (i) Important officer of the queen of Jhanst.

(d) Munder (iv) Incharge of the espionage department of the queen of Jhansi.

Answer Options :
(a () (o
(1) v} G (1)
2) @O (0 @ )
@) @ [ ) |
@ G @ )
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21

IR HIHST VYRS T F NYF 370 T @ fewmon=n Sirem e

(a) SN FaHt N

(b) L. e (i) AW
(¢) TRW weadT (i) AR
(d) == @l (iv) e
vatet I ;

(@ () (o) (d)
(1) Gv) D) () (i)
) @ G (v
() @ @ @) (W)
@ @ @ @ (iv)

TO7

Match the following members of the War Council with the Places they came from :

(a) G.V.Ketkar (i) Pune

(b) V. V. Athalye (i) Satara

() S P. Patwardhan (i) Ratnagiri
(d) V.V. Dastane (iv) Bhusawal

Answer Options :
@ (b) () (d)
(1) @) W @ (i)
2) @) @ @) @
@ @ @ v (i
(4 () Gi) (@) ()
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TETH &3 1.0, T 31Ty FIOR A qfee g faven gt O faet amira ankuare vmsy 39,
et e wead. 1911 A&l i aw, qof &, ot S fiwa st =t ot foen oty et
U7, Al @77

(1) HesTod! (2) wERd

Q) HgHHED (4) o9 AT

She was the First Hindu widow in Madras to study B.A. She was threatened with
excommunication. She was harassed in the streets. She completed her B.A. in 1911.
Though she did not become a Christian, she was affectionately known as a ‘Sister’, who is
she ?

(1) Subbalakshmi (2) Sarladevi

(3)  Ambujammal {4)  Ammu Swaminathan

37.

(a) SUUERE T (b) miEEE FSH

(0) HETE W (d) ferrE e
i S

(1) (a), (b) ST (c) o (2)  (a), (b) W (d) o
(3) (@) (o) 2T (d) e (4)  (a) STIOT (d) Tkt

Who tock the initiative to establish ‘Deccan Rayat Samaj’ ?

(a) Arnnasaheb Latthe (b) Walchand Kothari
(¢)  Mukundrao Patil (d) Dinkar rao Javalkar
Answer Options :

(1) {(a). (b) and (c) only (2) (a), (b) and (d) only

(3) (a), (c) and (d) only (4) (a) and (d) only

AT HIATE W /SPACE FOR ROUGH WORK



35 1858 W AT HIENT LR e e . 9 LouiE AIYTATHR] SYRE, gy
Wid AYITATE 3T,

(1) #uer 43 (2)  TEIT G (% I gy (4)  BY oy

In 1855, the Bombay government raised a loan of 2 crore rupees for the constructon ¢
roads, canals etc. but the money was used in ___

(1) Maratha War (2} Afghan War (3)  Burma War (4} Mysore Vior

39, TEIS TeiaEd SISl
B[ N R R TR £ R A R T S T P LS 12 e T €

AN
=

FogTay T ST e

(1) LA RIS ST e Bk v
(3)  FlHAdy el (4)  Fhal g
vecogni: - e eosson Gon the sfatiraess

He was born at Tankara in Morvi on 7t March 1821, His father’s name was Ambasshanke
Ambashankar was very orthodox.

(13 V. R Kothari £ Loy auda Sarnswati
3 Karsondas Muiii id Kavi aimad
) \

40. SdIIaEE FEE _

N Tade gifemeriAl, = uRdiA s W oo

Fles A HEGHIA Hiien IO e T8 HaT4a 81d, St FF AH e S,
(1) TS 2ot (2) v e
(3) W& E Y LR IR

A beginning of communalism s said to have been made by __  bse o
historian whe described the ancient period of Indian history as the Hindu pertod aot
Medieval period ag the Mushm perind,

(1)  Arnold Tovnbee {or 0 Jasnes S

(3) Charles Emerson (Ay LA Qmith

11, AW HEH AT IOEAE GOl RO T STE S
(1) iy v (2) AT, (3) e (4)
Which of the following states of India is a lcading producesr i >ea Fish ?

(*v Andhra Pradesh {2y Tamil Mada (Vo Mahasrashtvs (4 V-

e RIS A /SPACE FOR ROUGH WORK
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42. GG BuAE fER 0
(a) HRAM 6 INEGS JFHGIH eFrart 2001 T 15.9% WA 2011 989 12.1% THET

e

(b) 2011 BN FFUATER 0 0 HTER U9 Wgd Wdidie 0 98 010 6 JOErons
BRAEI! SRRAR] U2l AR,

ieYs] Hm/Hiv faus/fagm sieEt R,/ e ?

(1) 95 (a) (2) R (b}

() (a) M (b) 2T (4)  (2) fan (b) A= T

Consider the following statements :

(@) The proportion of population below 6 years of age has declined from 15.9% in 2001
to 12.1% in 2011 in India.

{b)  As per 2011 census the proportion of population below 6 years of age declined in all
the states of India except the state Jammu and Kashmir.

Which of the above statements is/are true ?
(1} (a) only (2) (b)only
(3} Both (a) and (b) (4) Neither (a) or (b}

43, TR - Y TEEIHE TSR Yl HIw ?

() IHTR (b) TR () == (d) —TEHFER

(e) =rHHETE

T I

W) (@), (o) (), (@ (2 (a) (d), fc), (@

@) (B} (d) (o) (o) (4)  {a) (b), (). (o)

Which of the following towns fall on the Solapur-Dhule Highway ?

(a) Tuljapur (b)y Latur (¢} Beed (d) Osmanabad

(e} Chalisgao

Answer Options :

(1) (a), (b), (d). (&) (2) (@ @) (@ (¢
(3} (b). (d), () (e) (4) (@) (b) (o) (e)

HoeAl ShIWHIS AET /SPACE FOR ROUGH WORK
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44. GOvS faEM T
(a) TEEHE) 26 S 2005 T 900 M. Js7 A TR TSH T,
(b) EE W2NE YR g Ifieise IS T Aed ST,
(c) A FIFOTd IR FHIHUMILT TS THIT T T84,
g Y ;
(1) TaumF (a) 307 (b) SR 7=
(2) foum () 3fo (o) a0 e
(3) faur (b) i (c) IR 3TRa.
(4) e Td faw e oA,
Observe the following statements :
(a)  Mumbai received more than 900 m.m. raimfall on 26t July 2005.
(b)  The rainfall increases from east to west in Mawal region.
(c)  The South Konkan receives more rainfall than North Konkan.
Answer Options :
(1) Statement (a) and (b) are correct
(2) Statement (a) and (c} are correct
(3) Statement (b) and (c) are correct
(4)  All the above statements are correct

45, @Eo faumEr faur = -

(a) TS T AT Siald] A TaRamt (12.78%) IO WV A IR, o EoEs
SR TENIT & TS Fii= i ST,

(b) Tl W™ wd 100 GE W Sld™ e & e THE A S ST6H (203.54)

WSS i § 1od Te9i= FH& SN,
wafd Ty
(1) () 3007 (b) S (2)  (a) TR (b) I
(3) (a) TF (b) TR 4 (a) f (o) I

Consider the following statements :

(a)  Uttar Pradesh has the highest percentage of Road length in India at 12.78% followed
by Maharashtra and Rajasthan respectively.

(b)  The length of surfaced roads per 100 sq. km is the highest in the state of Goa (203.54)
followed by Kerala and Punjab respectively.

Answer Options :
(1)  (a) and (b) true (2) (a) true (b) false
(3) (a) false (b) true (4) (a) and (b) false

HeedT HIHMES! | /SPACE FOR ROUGH WORK

P.T.O.



TO7 26 A

46. TSR] HIA G FHIERUIG HHART SHawl oTZUard HROTYE F1e 37784 7

(2) ¥ ¥R by o oz gz

(c) HRRR HEel (d) TR AN

TatEt I

(1) (@), (b} ST () ) (0) () A (@)

(3) (a) W (b) (4) =l T

Which of the following factors are responsible for the development of fishing in Konkan ?
(a) Straight coast line (b Wide Continental shelt

(¢} Co-operative societies (d) Government support

Answer Options :
() (a) (b) and (c) (2) (), (©) and (d)
(3)  {(a)and {b) (4)  All the above

47. @il faum e
(a) UTY=H TTRNT= Sledem eEU 4igas Tad 1§ AT Feal WU,
(b) W TR TEEe Ma=A H=dAr T g,
() W Rl feaear=n TNt Aeed.
TafE I
(1) W 94 (a) TUE 3R,
(2) w faum (b) T AR,
(3) wF faum (o) T TR,
@) faum (a), (b) 2nfn (o) == TEE.
Observe the following statements -
(a)  The saline soil feund in Western Rajasthan is known as Reh or Kallay.
(b)  Bhangar soil is formed of alluvial deposits near river.
(c) Khaddar soil is tound at the foot of Himalayas.
Answer Options :

(1)  Onlv statement (a) s correct

(2)  Only statemenl (b) is corvect
(3)  Only statement (c) is correct
(4) Al the three statemients (a), (b) and (¢} are incorrect

AT TS JAT /SPACE FOR ROUGH WORK
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48. WIHGUH! HIUET AL HeMT TS 01 Treamy et ?

() NH13 (2) NH16 (3) NH17 (4) NH7
Which of the following National Highways connects Panvel with Goa ?

(1) NH13 (2) NH16 (3) NH17 (4) NH?7

49. 2011 T TVETEN Wio g 9E

(a) W,WWamamqﬁf%ﬁ;ﬁ.Wmmooamaﬂm
CHIES

(by  STEOTEE e, fEion 3 fasent™ gn o=t wfa. st HomiEt u9a 100 98 ST aTe.

Wﬁ:
(1) (a) 301 (b) SR (2)  (a) FA (b) T
3)  (a) T (b) TR (4) (a) @0 (b) TF

As per the 2011 census observe the following statements :

{a) Bihar, West Bengal and Kerala States have crossed the population density of 1000
individuals per sq. km.

(b)  Arunachal Pradesh, Mizoram and Sikkim states have population density of less
than 100 individuals per sq. km.

Answer Options :
{1) (a) and (b} true (2} (a) true (b) false

(3) (a) false (b) true (4) {a) and (b) talse

e IS RN /SPACE FOR ROUGH WORK
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50. wroe fauH e
(@) HERSEML wEt, fed) & 3¢ W S SR TaRaidie Fwain werm, e g g
e,
(b) TR IR, T, Fei€ i Feedt v oo St whe esnart @ 3 e Stearn
PRI CHFFARTUL FH] 3R,
it Y
(1) (a) 70 (b) =RIeR (2)  (a) SIS (b) IF
(@) (a) TF (b) R (4)  (a) 3 (b) %
Consider the following statements :
(@) Interms of the percentage of people those spcaking Marathi, Hindi and urdu stand
first, second and third in Maharashtra.
(b) Moreover the percentage of people speaking Gujrati, Telugu, Kannada and Sindhi
together is less than the percentage of people speaking Urdu.
Answer Options :
(1) (a) and (b} true (2) (a) true (b) false
(3} (a} false (b} true (4) (a) and (b) false
51. FHE( SERT GSH BN H ?

(a) TIEREM TR 00 WEh

(b) MehedHl A FHRE GSH

(© T e sw e woe wew

et I

(1) F (a) @ @eE) 3 () (4) , 7o w
What is an Amygdaloidal rock ?

{a) A rock made of lava

(b) A basalt rock with cavities

{c) A rock formed by cooling of the lava in cracks

Answer Options :

(1) Only (a) (2} (a) and (b) (3)  Only (b) (4)  Allthe above

e TS FF /SPACE FOR ROUGH WORK
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52. W@ fau™ e :
(a) N A=Al YNEHS fearear e 3 ferme wiwma usw snfn femiea Ok T,

(b) TeoTeam arteIgHe T RN TR T TE.
(¢) TSI IRTead I o Wais SEaTd o4l hroadrd! T,

qait v
(1) e faue (a) U= TR, 2) K Taum (b) SlET T,
(3) W fAUE () TR ST (4) w0 gd faum sl o

Observe the following statements :

(a) The rainfall in Kashmir and Himachal Pradesh and snowfall in Himalayas occur in
winter due lo the effect of Jet stream.

(b) Tamil Nadu receives rainfall in winler due to North East monsoon winds.
{(c) The hot winds blowing during summer are known as Norwesters in Bengal.
Answer Options :

(1)  Only statement (a) is correct (2)  Only statement (b) is correct

(3) Only statement (c) is correct (4)  All the above statements are correct

53, Wors fauEE faEr s
(a) T, 7 gameren e 2fam wana AR e YR YImeRTe aTaHMd J1E €.
(by =9 2013 - 14 T&A IRAmEd fur gerTes A1 Af P T A TETe Y Fl
TR PR/ Frordt faem faae aET ey sTed 2
(1) ™ (a) (2) I (b)
(3)  (a) 3 (b) A (4)  (a) smfor (b) SRR T

Consider the following stalemerts :

{a) During the time of El Nino phenomenon surface temperature goes up in the Southern
Pacific Ocean.

(b) 2013 - 14 was the year of severe drought in India which witnessed strong El Nino.
Which of the above statements is/ are true ?

(1) (a) only (2) (b)only

(3) Both (a) and (b) (4) Netther (a) nor (b}

el H_IAre S /SPACE FOR ROUGH WORK
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54. TRRIERIG GOIE Tell HOGR S §THEUR 3R HdMH foe

(a) aui (b) A () F®E (d) Tfeni

Tt I ;

1) @) (®) (0) (d) 2) (), () (d). (a)

3) @) (), (d) (0) () (d), (¢} (b). (a)

Arrange the following rivers of Maharashtra in descending order of the size of their

catchment areas :

(a) Wardha (b) Koyna (¢) Ulhas (d) Savitri

Answer Options :

(1) @), () (©), (d) @) () (), (d). @)

(3) (@ (b) (d), () (4) (), (o). (b). ()
55, e B

TR AR BT

(@) <=oh (i) SEITR

(b) s (i) AT

€y TR (ili) IETEIE

(d) @ | (iv) TS

Tqidr S

(@ (b) (o (d
(B Gv)y @) @) @
(2y GH) @v) @ (i)
3 GO @ @) (iv)
(4) @) vy () @)
Match the following :

Cow breeds Found in
(a) Devni (1  Ahmednagar
(b) Dangi (i) Nagpur
(c) Goulau (iii) Osmanabad
(d) Sort (iv) Raigad

Answer Options :

@ @ (@ @@
(1) vy () @) @
(2y (@) @Gv) @ G
@) @ G @ @)
(@) @) (v) (i) ()

e BT A /SPACE FOR ROUGH WORK
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56. SESIYl YREE Sefsaeeen faFfha 81 7R T9a k= T Swaa IS ael wE S 2
ITE. IS T hered 14,1 THHIIET 3N AR, W 316 a6 Svmenr sefenawda deft wewnH AR
EAtu-

(1) WEE Adfereen WA FuuH s 318,
(2) et ST Hien RIER 31EEEA (subsidy) fResd.
(3) IRHE SERIEE SATOR e W Seifed d.

(4) WA 50% T AlkF Dewlar 92 SR T TR,

[t is seen that, in the process of development, the share of agriculture in gross domestic

product is decreasing in Indian Economy. Today it is only 14.1 percent. Yet the agriculture

is important in the nation’s economy because :

(1}  Indian economy is traditionally agro based.

(2)  Agriculture gets subsidy at large scale.

(3)  Agriculture produces raw material for industries.

(4) Agriculture provides direct employment to more than 50% of the population.

57. SET ol
ithe AN &ehT 2014 st
(a) TESTH &ETAE d i 21
(b) @I &S dehl (i) 26
(c) v fagsh d# (i) 64
(dy for e e (iv) 43
el 39

(@ (b) () (d)
(1) @) @) () (1)
@) ) @) v ()
() Gv) (D) (@)
@ ) v 0 )
Match the groups :

Scheduled Commercial Banks 2014 Number
(@) Public Sector Banks @B 21
(b)  Private Sector Banks (i) 26
(c}  Foreign Banks in India (i) 64
(d} Regional Rural Banks (iv) 43

Answer Options :

(a) (b) (o) (d)
1 @© @ @b ({v)
(2p () () (v} (i)
3y (v) () (1) @
(4) () @v) (3 @)

o=l SHTAMEE WA /SPACE FOR ROUGH WORK
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58, 26 3iFRE 2010 IS @I K §6, T2 s Hh feamed faom Fmam 3 ?
1) &=z dF atie Yeuae 2) f& vz &% o7 Ty
(3) f&w= d% e e () T&we % afin =R
Which of the following Banks was merged with 5Bl on August 26, 2010 ?

(1) The State Bank of Hyderabad (2) The State Bank of Mysore

(3) The State Bank of Travancore {4) The State Bank of Indore

59. Trafden deamed SvaranE! uiE GREiA OTF H86d SN weredl WM hodl Hied, 1 A 34
(a) e fawm Hizs
(b) 3t enftr whrmge oaed frafa faswm e

(c) =E wED

(d) uran@ gfaw fawrm snfn fadia wRrHes

Tt I

(1) (a) R (2) (a), (b) 3 () FIR 2T
(3) (o) RIS STg @) (@), {b) =nfm (d) SRR A

Government of India has set up various councils and organisations for the promotion of
Export. These are :

(a) Export Promotion Council

(b)  Agricultural and Processed Food Product Export Development Authority
(c) Commodity Boards

(d) Infrastructure Development and Finance Corporation

Answer Options :

(1) (a) is correct : (2) {a), {(b) and {c) are correct

(3) ({¢) is correct (4) (a), (b) and (d) are correct

HeAT ShTaTETSl I /SPACE FOR ROUGH WORK
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60. SHUTT HFHUw THA THA
(1) 78 3 T Jogad AT Hedl

)

(2) TSI HHI 9 JoIel 9H Fred!
(3) e iy TEa! W SRed A Hedl
(4) =S THE TR

During the second stage of Demographic Transition :

(1)  Birth rate remains high but Death rate declines rapidly
(2)  Birth ratc remains low but Death rate increases rapidly
(3) Death rate remains high but Birth rate declines rapidly
(4) None of the above

61. HEWH TH WL AH ISR T AR 71 STAREE Taaede deerd JIaqE THome
TR TSR Bt S o8, I e 99 @0 a6 3T ¢

() U Hefg e

(b) A frewa AETAE Hed

(cy Tadiia wmERm

(d) Tl TUHFTE Hed

Tt 9T

(1) (a) 3T (b) TV 7R (2) (b} 3T (c) TR 3R
(3)  (a), (b) 3T (c) =L TR, (4) TS Td SUE 3R,

Mahatma Gandhi National Rural Employment Guarantee Scheme is the first ever Law
Internationally, that Guarantees Wage Employment at an unprecedented scale. lts main
achievements are :

(a) Increasing Employment Opportunities

(b) Enhancing Wage Earning

{c}  Financial Inclusion

{d) Help to Women Empowerment

Answer Options :

(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a), (b) and (c) are correct (4)  All the above are correct

TFEAT HIUMEIE A /SPACE FOR ROUGH WORK
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64.
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(1) 40% (2) 18% () 35% 4)  20%

Of the total credit of the Indian banks is expected for the priority sector.

(1) 40% (2) 18% (3) 35% 4)  20%

2013 - 2014 A1 FET qLART 1 fushr! OreE o4 YrEee THY &A= §ad SR
wroma fegH .,

1 T (2) dig® (3) =R (4) HH

In 2013-2014 the largest area under cultivation of the food grains in India was of

(1)  Wheat (2) Rice (3) Jawar (4) Maize

ST S Seted SR st e, 9 TEd STohin e [ e
EOHTS ST ST

(1) < (K) (2) it (B) (3) T(A) 4) #(©

Vitamin __deficiency is very rare in adults, but may lead to hemorrhage in the
newborn.

1) K (2) B 3) A 4) C

TR (GAAR) %= ;
(1) wrTaes At faluide fam
(2) HReRA g o frEy
(3) inTfas @ 9 ufiar f4a9
4) TEmERe = FEAA falurdie fHan
GAAR refers to :
(1) Global Anti Avoidance Rules
2)  General American Accounting Rules

{
(3) Global Auditing and Accounting Rules
{

4)  General Anti Avoidance Rules

oAl RIS S /SPACE FOR ROUGH WORK
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66. THEHRY () WAET Siearen v g e (ShELE!) Rt e ?

(1) 30 g1t (2) 15 €, (3) 25 #.dt. (4) 40 ¥,
What is the distance of distinct vision (DDV) of a normal human eye ?
(1) 30 cm (2) 15c¢m {3) 25 cm 4) 40 cm

67. 2010 WA WHel T fwiw (HDI) i =en € Yo% Yoo a9 o1 S |)Hm
fwiera __  o7eht e W,
(1) T e (2) fas e (3) WETE o (4) wgod o9

Since 2010 the Human Development Index (HDI) is defined as of normalised
indices measuring achievements in each dimension.

{I) arithmetic mean (2) geometric mean (3) median value {4) modal value

68. @G faur faane =i
(a) TYUTTHS SF-YF AT 28 TR 2014 USH G& F0am A,
(b) B droT dF 999 @R GE FoE JHET 29,
(¢) B A o fam anfn e fam g,
(dy Ao Ry FEen 89,
it 3T ;
(1) (a) 370 (b) Fert =L A (2)  (b) 3 (¢) T AR 372
(3) (a), (b) AW (¢) P TR MRA  (4) T ¥ fFuW I R4
Consider the following statements :
(a) Pradhan Mantri Jan-Dhan Yojana was Jaunched on August 28, 2014.
(b) The scheme encourages opening saving bank account.
(¢) It provides accidental insurance and life insurance.

(d) It provides overdraft facility.
Answer Options :

(1) (a) and (b) only are correct (2) (b) and (c) only are correct
(3) (a), (b) and (c) only are correct (4) All of these are correct

oAl HHHS AR /SPACE FOR ROUGH WORK
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69. HIF WA Ao frdrem, | S SreEen wear 2011 THR W SR 2025

A SO e SUREA 91 1.39 31 Greeie] 3 e S ek e
AEdid f Taid [ieT 3% s
(1) 144 315 (2) 146 &= (3) 145 3= (4) 147 IS

According to United Nations Population Fund’s ‘State of World’s Population Report 2011',
india’s population in 2025 will touch the making India the most populous
country in the World, over taking China’s 1.39 billion population.

(1) 1.44 billion (2)  1.46 billion (3) 1.45 billion (4) 147 billion
70. [uIia ST yaoE (TR 530) € i HeEfud o

(1)  TERE T (2) wEE e

(3) OETIRET EaTe (4) TOFUE THE AR

Revised Standard on Auditing (SA 530) deals with __

(1) Audit Sampling (2)  Audit Planning

(3} Audit Report (4) None of the above

71. o9 foorde wF gftes kWh i ge9 fdi ?

(1) 36x10°5ge9  (2) 38x10° o0 (3) 40x10° Sged  (4) 42x10° S cH
A kWh energy corresponding, to the value of one unit of electric bill is :

(1) 36 x10° Joules (2) 38x10° Joules (3) 40x10°Joules (4) 42x107 Joules

72, ECRTEAR) HAMNG how! IRaH! Tedl dale Swe el F..
(1) Al (2) = sifae fave
(3) STERE (4) AT
The first Indian space observatory satellite dedicated entirely to astronomy is
(1) Astronaut (2) Mars Orbiter Mission
(3)  Astrosat (4) None of these

o] THHES IR /SPACE FOR ROUGH WORK
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73. wWeEE M Aoy sHea.
(1) w&E % (2) @z == (3) HHA FE (4) wiellee HF
Lenses of spectacles are made of _

(1) Pyrex glass (2)  Flint glass (3) Ordinary glass (4) Cobalt glass

74. AMSTHAL {9d AETIF FE G ?

(1) " (2) = (3) o 4y fem
What does an amalgam must contain ?

(1) Mercury (2) Silver (3) lron (4) Platinum

75. wizvara fegfree fefteaurm stranfies wmad wia g, fewfas fefeenm %8 & sm ?
(1) o= HerA™ (2) A WEEA
(3) WHSa (4) SETS

Destructive distillation of coal gives industrial organic chemicals. Destructive distillation
is essentially carried out :

(1)  with the aid of ice (2)  in the presence of air

(3) in the absence of air (4) below the earth’s surface

76. UEEUw! HE WrERE Tud wuE vey ies'!) ! gmtd 9" o8 aftees w7
(1) BHeER (2) TR (3) UEEEE (4) TETEE

What from amongst the following resembles gold in appearance and is herce called as
“Fools gold” ?

(1) Hematite (2) Magnetite (3)  Siderite (4) Pyrite
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77. STEAHERIAG! SAETE TR YEH FOW AR WAGTH! HIvR 2
(1) TSEEm (2) <= (3) (4) @@
Which of the following is an essential element playing important role in plant growth ?
(1)  Molybdenum (2) Boron (3) Nitrogen (4) Copper
78. WIASHeh! RN YU ' SIS Wi WU @G I ?
(1) ez (2) EEH (@) S=hedy ¢ FES
Which of the following groups is well known as ‘Duel plant’ ?
(1) Algae (2) Lichens (3) Angiosperms  (4) Fungi
79. B SO SgAiyl fEteed™ Td WU et Wi S At gusTE=ar deieiiet
TR TBUH SIaS .
(1)  Fgarfar et (=) (2) ISR FFATH
() TedtgFT FgTTE (4) gl Frergar
_ is commonly used as a green manure and cultivated in rotation with cereals.
(1)  Sesbania cannabing (Dhaincha) (2)  Tridax procunibans
(8)  Hibiscus rosasinensis (4)  Sunedrella nodiflora
80. WGIUS! HIURN WO T Wil 318 ?
1) «g® (2) wEe (3) (4) AHE

Which of the following animals shows radial symmetry ?

(1) Frog (2) Pila (3) Fish (4} Star Fish
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81. WSt Ie0i@ hoo Td [ Foen i ST ?

(a) Tafiisri=an 2 Srem (b) JarES G A

(c) HTTER Few (d) wifas suien 3 & sfuw Srem

i I

(1) @*e 2) TouEE 3) T @) Tog

Which arthropod has all the features mentioned below ?

(a) 2 pairs of antennae {b) Compound eyes on stalks

(c)  Gills for respiration (d) 3 or more pairs of mouth parts

Answer options :

(1) Crab (2) Butterfly (3) Centipede (4) Scorpion
82, HoHASY 7N WA ek {t, FIUAI FTq FHTAT ?

(1) U= (veftal) (2) wWwEwioEr o (3) IR wied (4) &l

In which class does a Salamander fall ?

(1) Aves (2) Mammals (3) Amphibia (4) Reptiles
83. WEIC, e AMHLEA Al B IF 799 ST o fhTun=n 3 i ?

(1) 3IH (2) T (3) WEEEEY (4) HcTEEEE (HiTHID)

What radiation is used to prevent sprouting of vegetables like potatoes and onions ?

(1) Alpha (2) Gamma (3) Microwave (4) Ultraviolet
84. TAEE THANG TRNUNE HIU AET] SEUATH! TaTal 3THd ?

(1) WiiroskF"  (2) «faed @) WEEEHH 4y Ffezfean

Which of the following bacteria can grow in airtight sealed food containers ?

(1) Staphylococcus (2) Bacillus (3) Streptococcus (4} Clostridium
85. T3, T ST ST STTARRIE v v Sawer ?

(1) AR (2) ufqfafes @) Fwifres (4) SRR
What drug is used for the management and treatment of HIV infection ?
(1) Ritonavir (2) Penicillin (3) Rifampicin (4) Vancomycin
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86. A wisTide SRS SavArETE AT e R T fae
25 ? 29
27 13 19
21 23 17
(1) 26 (2) 24 (3) 31 (4) 35
Select the logical number for replacing the question mark in the following arrangement :
25 ? 29
27 13 19
21 23 17
(1) 26 (2) 24 (3) 31 4) 35
87. T TE FhReNet Ad wEme 41, fafe e @ fagg 99 sw wamer 5 fafse san =

& T TFenftel siavadie fosm e 9 TRETEaE STHa 378 a W gEraTet fadt
el S AT gl ?

(1) 200 Hiets 3mrEl faggen (2) 150 Hiet= el faagen
(3) 80 HiTH AHE! THISH (4) 100 Hie= ErEl fagzen

Amol can run a kilometer distance in 4Y2 minutes while Bittu can run the same distance in
5 minutes. If they expect to reach some place at one kilometer distance at the same time
then how much ahead should one start ?

(1) Bittu should start 200 m ahead (2) Bittu should start 150 i ahead

(3)  Amol should start 80 m ahead  (4) Bittu should start 100 m ahead
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88. W fadea sngdta ot Hepror améa & wien ?

>

(1) 44 (2) 46 (3)

Find the number of triangles in the given figure.

==

(1) 44 2) 46 (3)

48

48

TO7

4) 52

89, HIf@H=A] T AFEE! Thend wfam Fare

SRR N

) ﬁ* @ és*{: o

Select a logical image for the 2" place of the series.

o L

(1) @%ﬁ; (2) {GS*{: (3)

¢

&

<
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90. WS AfgdI=l 7varg e e W I fo

(@) P=Qa a1 P g Q 3 92 aTed.

() P+Qa 3 P& Q < IE 7.

(c) P@Q =21 P& Q ol o,

(d)y P~Q e Pd Qo oI%.

IR A KN B @ RO TR A e Wl S W w8 B e A I g A

IS d [EIS TR fHaer

(1) A=C@B 2} A+C~B ) A=C -8 4) A~D&C=8

Study the following information and answer the question :

(a) P=Q means P is father of Q.

(b) P+Q means P is mother of Q.

(c) P @ Q means P is husband of Q.

(d) P ~Q means P is daughter of Q.

Person A says to person B that “my mother m law is mother ot your mother in law”. Then

find the relation of B to A by selecting proper alternatives given below :

1) A=C@B () A+C~B @) A=C~B (4 A~D@C=B
91, THAI SIRA FeAEglas 79 Haer

1 6 9 ?

N TN T
SRR . VA

12 1 160 (8) )5 6!\(3'}\/99 S 8

A
\.,\\4 / o L
4 9 12

m 2 (2) 36 (3) 24 (4) 12

Study the pattern and select an option to replace the question mark.

] 6 9 ?
. LT
f/,\ //(/_—?\I\ / . \\
1 @ 16 5 60 (3) loo | 37 g
2 4 @ ) \ N ) VN
K_,/ \\_,_//'I \\‘\‘7,/' '
7 4 9 12
1 2 (2) 36 (3) 24 ) 12
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‘o' S g W o aanE fide o wR auigel (&R a3 = dagie oI g B 9N
TR ' A gF 31 N sEe W T A F'F' 9 e 7 Tl ?

(1) 10, 50 ) 10, 46 (3) 9,50 4) 9, 46

A’s age is three times B's age. Four years back C's age was two times A’s age at that time.
After four years ‘A’ will be 31 years old. How old are ‘B" and ‘C’ today ?

1) 10, 50 (2) 10, 46 3) 9,50 4) 9, 46

Ty qgta TR <A 6

R
i
€ <

(1) ’5@ @) @ o) @ @) @

Fill in the blank with the appropriate option :

R
i

4 <

) ’Eﬁ (2) % (3) % (®) @
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94, o7 IMFrar THE W e

- 2 /?’\\ .ﬁ .“ ’{T_“ é -
(. [y Y, E __ﬁ;/_t ! _:L
m—— — L
(a) (b) () (d) (e)
g I ;
() ta) (b) (2) (b () (3) (o) (d) (4)

Select the similar pair of Ven diagrams :

) TN

(2) (b) (c) (d) (&)
Answer Options :

(1) (a) (b) (2} (b} (0) (3) (o) () (4)

- .
N
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95. Terams : ** quitem sysirai=n gom & Toin qoTe S 3 k.

77 faurTEsT S Fead S Aredayrn famm Fo w9 frsed frae

e

(a) SR UM ™ AT o ot s aie faum 9o 3o,

(b) TR U w1 SN HorH! ot sTEe Tl faum e 3.

(c) o SASEE TBm Ui R 3w 0% AU | 3ie.

(dy T TSI o AU A ST e [aE ' 3o,

Wﬁw :
1) (a) 954 ¥ T (2) (a) HZA T 319
(3) T (o) T IR (4) e (a) Tohar (b) F0T 3T

Select the correct conclusion/s with respect to the statement considering only direct
relationship

Statement : “Rani’s grand-father’s son can be grand-father of Rani’s son”.
Conclusions :

(a) Statement is true only if Rani is a daughter of that grand-father’s son.

(b) Statement is false even if Rani is daughter of that grand-father’s son.

(c) Statement is true even if that grand-father’s son is Rani’s paternal uncle.
(d) Statement is true even if that grand-father’s son is Rani’s maternal uncle.
Answer options ;

(1)  All are true but for (a) (2)  All are false but for (a)

(3) Only (c) is true (4) Either (a) or (b) is true

96. S ekl Wikfde WA ‘Super’ ¥ ¥ea HFKVI 311 fofedd, & ‘Market’ B ¥sg %41 {5 ?
(1) NZIPVG (2) NXIPVG (3) NYIPUG (4) NZIQVG
In a certain code lanugage if ‘Super’ is coded as HFKVI, then ‘Market” will be coded as :
(1) NZIPVG (2) NXIPVG (3) NYIPUG (4) NZIQVG
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97, IS HU A9EA ‘ran’ A fadFT &4
(a) ‘qua ta pol ran’ ® 'l can rest here’ ¥ Yfa&Tor 418,
(b)  ‘pol ran sak no’ ¥ ‘1 can sit there’ & Tfa®um 27
Fie wiswrd=n Hevla g wifg fae
(1) ToeaaE wa mifed! (a) QI o7
(2) TodFTTEEt wa miwdt (b) Qi o
(3) fodermmaEt mfedt (a) 9 (b) TEN AR
(@) foghTEEt miEd (a) & (b) Yo TEL
Decode ‘ran’ using the following data :
(a) ‘I can rest here’ is represented as ‘qua ta pol ran’,
(b) I can sit there’ is represented as “pol ran sak no”.

Select the appropriate option with respect to the above process.

‘1)  Information (a) alone is sufficient for decoding.

(2) Information (b) alone is sufficient for decoding.

(3) Information (a) and (b) is necessary tor decoding,
(a)

(4) Information (a) and (b) is not sufficient for decoding,

98. 200 R 400 TG 4 B 3fF TR Wehard A1 Hg {hdl 2
(1) 36 (2y 37 (3) 34 (4) 39
How many numbers are there between 200 and 400 in which 4 comes only once ?
1y 36 (2)y 37 (3) 38 (4) 39

99, fEaHIA Sl TETEE FIE ANEh WE e e fewiA STEa ST WHH e S v
T -

(1) 24 (2) 23 3) 22 4) 21

Select an option that indicates the number of instances during the day, when the hands of
a watch are exactly in opposite direction with respect to each other.

1) 24 (2) 23 (3) 22 (4) 21

oA HTEE A /SPACE FOR ROUGH WORK



A 47 TO7
100. IEUH WA ARgH A S aeduaret TR AR, LIHEE Addre! gl I3arae g6t ey
e WENT 0 I VRIS MeTs oHa +H HiFel 7d. fegoar fod s anfde sum

9 Teerea AR T w1 = Teed w1 g feer
(a) I feama e SRTar SN eEaT T Wid A% 78 TgSunaus! R aed el
(b)  HET T EE shEEed Al saadtel TR 18 wfe=re fue frera we ene uig

(¢) UFTIA TH AV WA AHame FveEsE oo oNfdd Faod 7 HTEaR
WA R TS IR,

(d) HErBSEAE 9 T YEehi= AT, IO,
Wf'ﬁﬁ'iﬂi':

(1) e T @) (b (3) (4)  (a) 30 (d)

The city needs to scale up its public transport, clean up the congestion around stations
and improve the last mile connectivity to the stations. limposing a congestion tax and
making parking more expensive should help dampen the city’s car addiction. Slashing
diesel subsidies or higher laxes on diesel vehicles could help. The government should
stringent action to reduce emissions on high pollution davs.

Select the aspect/s that help/s reduction of pollution from the list given below.

(a} % winter eases and there is no problem of fog nobody talks of pollution.

(b) Ti. » Las not been a single conviction under comprehensive clean air law that
recsimirinds a minimum punishment of 18 months for an offender.

(<% Succeseive povernments have shied away from cutting subsidies that end up benefiting
TR T

(d) uUsing masks and air purifiers.

A woo tiptons

(i: ~Noee (2) (b) (3) Al (4) (a) and (d)

~-000-
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(Y 1 967 qe....)

@®) weTIfesnd fafea Foen fafere snie 92 @ (16 7%) wE. Tegfasatafisg sufmen o
TN FGER Fed FH FodH § HA B0 TAA HS R, 7 AFS TR F ITER IHCIAREL
IEAH S hosed  aheigsd g TR wiaay Fvamiead afuftan-g2 " Aeite wgdEn SR
F0AE A5 8 AN SR AIS T Fur=) SHEErErsn i/ e w9 U 9 e ser e
A TR,

(9) TR wETArRaES A fafea Fod de Ay SHTONE € GvAdfiEe Tad SEat TSR
UHA A0 WA SR, WA GUATRATEIRT WUargdl SHeEaH uedT ITRufAcRr 9Ti- 1
AHARFTRS 7 faawmn o sl 2w g

T, 6. 201,

9. . 201

AT 99H
= G T2 FI0GEES! B o IS e
(1) T gHEg S ) EvarEs faamrr
(3) T THHEEA T4 @) TeEEs e
T TR 9 I (3) T e T 9 R, wges A were I (3)! wde, A
TIHGITU! §¥1 %, 201 FAMAG sA-FAE ()" ¥ Fde yoit sEifed wET qrafan

ONON MO,

I UGHN WA T Yodsh UvATe qudl STGRHE 8 JETel e qiesea
STWHAFFIE ™ & FEFHFHEENT Fata g9g=8 gy S™ifhd Fed radEl.  gestr
Ther shTeodl VTS /oA a9, Uf-aes o1 Fgs 39 a4,
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